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SM: WAL
Bu: M9 M1 Sas o7
Chelr 2R MK S8 o7 (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2

ARTH A 2 A 3,071,717 2,022,662 1,049,055
= 1,031,000
= 2,040,717

W22 ALTH Satst AR 2,658,556 1,613,410 1,045,146
g 1,031,000
o 1,627,556

2 M L AP 1,296,961 740,200 556,761
hag 706,000
o= 590,961

AT SEHES =4 82,057 84,800 A2,743

101 21 214| 59,232 58,120 1,112

04 JIZtHIZ22XNSES 59,232 58,120 1,112
OEHOE 59,232

201 Bt 11,295 12,880 AN 1,585

01 AP 22| H| 11,295 12,880 AN 1,585
OANREE S 900
OYXNS(EXYX) 10,395

202 044l 1,530 1,800 A270

01 2L I 1,530 1,800 A270
ONI B84 ¥ Dl 42X 1,530

207 I & 10,000 12,000 A 2,000

03 A& 32| 10,000 12,000 A 2,000
OAS, =ZEX, HZE, sk = 10,000

AT 4 EF SHHE SA A 25 66,570 50,000 16,570

101 2121 4| 45,270 39,000 6,270

04 JIZtHIZ22XNSES 45,270 39,000 6,270
OEHFOL 45,270

202 044l 1,500 2,000 A 500

01 2L I 1,500 2,000 A 500
O BREA, B3 25 1,500

207 I | 19,800 9,000 10,800

03 A& 32| 19,800 9,000 10,800
OXZHIYF sSAR 2 14,000
OZX, HE, s%, skl S el 5,800

N2 MHE A MA & MG I 61,000 61,700 A 700

101 Q1 24l 40,000 39,000 1,000

04 JI2ZtHIZ22NEES 40,000 39,000 1,000
OEHL 40,000

201 LBt Y| 9,000 0 9,000
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01 At 22l 9,000 0 9,000
OKME Holls & HH AL ME S 9,000

202 (44l 2,000 2,700 A700

01 S LHOYI 2,000 2,700 A700
OLNSLI HSML R 2,000

207 51 OH £ Hl 10,000 15,000 25,000

03 Al & 11HI 10,000 15,000 A5,000
OA, X, HE, s, s S 10,000

MASHS AL 29,000 31,700 A2,700

101 @124 Hl 20,000 20,000 0

04 DIt Z2XREES 20,000 20,000 0
(CEFSgelis 20,000

202 044l 2,000 2,700 A700

01 = LH 4 1l 2,000 2,700 A700
OAEHF HEFA & ST =2 2,000

207 & O & H| 7,000 9,000 A 2,000

03 Al & 1HI 7,000 9,000 A 2,000
oHlz, 4224 =X, 48238 S 7,000

AT RSEER iD= g 2 23 71,334 97,000 A 25,666

101 @124 dl 59,334 77,000 A 17,666

04 JIZtHZ2XREES 59,334 77,000 A 17,666
(CEPSgelis 59,334

207 A RO H] 12,000 20,000 A8,000

03 A& &2l 12,000 20,000 A 8,000
OFX, HE, s, siM S 12,000

NAsAARI B DE (A ) (2 D) 562,000 285,000 277,000
s 281,000
< 281,000

405 XHoHF S HI 562,000 140,000 422,000
s 281,000
< 281,000

01 AL ESFH S 562,000 140,000 422,000
OZHE=ZZEX S 215 28U 562,000
s 281,000
< 281,000

NEESESI =ML (A (=2) 300,000 0 300,000
s 300,000

101 1244 dl 149,000 0 149,000
s 149,000

04 JI2ZHHZ2XREES 149,000 0 149,000
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OHRE X 3= 43,836
= 43,836
oOEEOIY 85,384
= 85,384
OHERES S 19,780
= 19,780
201 2et24E] 15,000 0 15,000
= 15,000
01 ArR 22l 15,000 0 15,000
OXNZZE Xz, sta3SEH S 15,000
= 15,000
202 Oddl 16,000 0 16,000
= 16,000
01 = LH 4 Hi 8,000 0 8,000
OAFULET, YR 8,000
= 8,000
03 =L FHHI 8,000 0 8,000
OwEsl &2, NEXZA S 5,000
o 5,000
OMASRX MEHEA S 3,000
s 3,000
207 Ao H] 93,000 0 93,000
= 93,000
03 A&l & 224l 93,000 0 93,000
OsilM s ¢ 93,000
s 93,000
401 AIEHIZL 20 27,000 0 27,000
= 27,000
01 A& HI 27,000 0 27,000
ONs: M2MF 1 34 27,000
s 27,000
NAHSRASASHAFE S (M) (21) 125,000 0 125,000
s 125,000
201 ¢er24| 5,000 0 5,000
= 5,000
01 AF2 22l bl 4,000 0 4,000
og=ad ALE N2 4,000
= 4,000
03 & At2 I 1,000 0 1,000
ogdc A g X & 1,000
= 1,000
307 glz2tol & 120,000 0 120,000
= 120,000
02 HAHFHYANEEX 120,000 0 120,000
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O4tstHAEAC A F=2 120,000
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DX ASHS o7 835,645 108,900 726,745
as 325,000
< 510,645

DIANE FHH A AP 72,445 74,500 A 2,055

101 @124 dl 60,445 58,500 1,945

04 JI2ZHHZ2XREES 60,445 58,500 1,945
oxFeF 60,445

202 (44l 3,000 4,000 A 1,000

01 = LH YI 3,000 4,000 A 1,000
OLNAXZE E4t3 AlgHR =& 3,000

207 Ao &I 9,000 12,000 A 3,000

EEET 9,000 12,000 A 3,000
OZX, HZE, %, sXIM S 9,000

D ASHAE WS L 2 M 32,500 34,400 A 1,900

101 144 dl 22,500 20,000 2,500

04 D12t Z2XESE+ 22,500 20,000 2,500
oxFe=F 22,500

202 4 Hl 2,000 5,400 A 3,400

01 = LH YI 2,000 5,400 A 3,400
ONAATE ME & SREG FRFA 2,000

207 A RO H| 8,000 9,000 A 1,000

REEET 8,000 9,000 A 1,000
ORI, &4 & 224 sTH S 8,000

DX HHF= P MA D= e 80,700 0 80,700

101 124 dl 50,000 0 50,000

04 JI2ZtHZ22XREES 50,000 0 50,000
OHREX 3= 11,577
OxF=F 38,423

201 LBH2E| 8,000 0 8,000

01 At 22l 8,000 0 8,000
OSXNZEZE UXE L MRES S 8,000

202 oddl 2,000 0 2,000

01 = LH o4 1l 2,000 0 2,000
ONHXEH= AFHR =& 2,000

207 A& H| 20,700 0 20,700

03 Al & 11HI 20,700 0 20,700
oHlz, sk, &EEE S 20,700
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s 325,000
< 325,000
01 A& Bl 648,000 0 648,000
O ANEAHEZL 32,000
s 16,000
< 16,000
OJIEAIE & Rel=4d & 616,000
s 308,000
< 308,000
03 Al 2 THHI 2,000 0 2,000
OSMT=2 JRE2 S 2,000
s 1,000
< 1,000
At Z3g2e] 525,950 764,310 A 238,360
AN Y BEBANE 22 149,950 251,310 A 101,360
201 L2l 149,950 151,310 A 1,360
01 At 2t 2l 13,950 15,500 A 1,550
Of=E 7,725
ONSHANEH 6,225
02 =224l 136,000 135,810 190
o=a 80,000
ONIASHANEE 56,000
AT TA O ALRK Y 58,000 0 58,000
401 AIEHIZ 28I 58,000 0 58,000
01 A& Hl 58,000 0 58,000
O2d™ ARX OHe 57,000
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A Y ZElAt S S A 318,000 0 318,000
401 A2 HIL 2 TH Y| 318,000 0 318,000
01 A& HI 318,000 0 318,000
OAANEAHESHA 15,000
OotAE ZZ M, d=+2=2 &X S 275,000
OH&HIIZ HMel 28,000
BH 2SI (AR A) 413,161 409,252 3,909
el 2 376,777 372,709 4,068
AFTHAIE & 3 376,777 372,709 4,068
101 1A dl 376,777 372,709 4,068
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